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„Probably only 2 % of the world population is able to solve this riddle.“ - With this saying, Einstein referred to the riddle of pure logic, known as Einstein-riddle.


Such challenges are rarely found today.


This collection of challenging tasks in the fields of logic, maths, geometry, concentration, understanding, decoding and systematic approach contrasts with the standardriddles of these days.


The riddles are designed logically and have high demands on the reader.


Sometimes, the riddles are structured in different levels of difficulty so that a scheme for solving can be developed.







Preface


This collection of riddles is intended for people who are looking for special challenges. For many people, the classical standard riddles are no longer satisfying. Of course, a sudoku can be designed more difficult and can be challenging for the puzzling person, but its nothing new.


Intelligence is a result of creativity. This is the ability to develope systems and strategies for special tasks and problems. Therefore, various types of riddles are essential to ensure that mental flexibility is maintained.


To venture on a new construct of tasks, a sensible structure in the difficulty is required. If you start with the most challenging task at other riddles, you run into danger not to develope an adequate method for solution. Your mind needs training for solving the tasks. That is why, the riddles – wherever possible – are divided into several levels of difficulty.


The ability to rethink and to see problems from different perspectives is important for solving the tasks.


An additional factor is the high demand on concentration, especially in the more difficult fields. These riddles are mostly nothing for alongside, but require attention.


„Neurobics“ and intelligence tests are things in which people are increasingly interested. That is a good thing, because it is a reasonable goal in life to improve your skills. It is a fact that people who are faced with many different kind of problems and their solutions, are more creative than people who solve very specialized tasks profoundly. If you look at the construction of diverse intelligence tests, – however, the question of intelligence is not finally clarified and can be extensively covered in the field of philosophy - creativity is important for success in different tasks. So, you can quite conclude from creativity to intelligence.


The riddles in this book will exhaust your creativity and call for your full concentration.


Use the solution part sparingly. If necessary, try to let another person check if your result is right. If not, puzzle further. To think about a problem intensively, requires patience which is also a trainable virtue.


An important note: Do not risk fastening onto a riddle. Put it aside for a moment and try again later. Do not think linearly, but be creative.


Good luck!




1. Riddles of geometry


Each riddle shows geometrical figures which are in relation to each other. Lengths of line segments can be solved mathematically and geometrically, due to fixed geometrical proportions.


One such length is always given. Recognizing the geometrical relations and performing the mathematical solution will give you the exact result. The drawings are not to scale.


Important notice:




	The result always has to be accurate to two decimal places.


	The three subchapters refer to a certain area of geometric theorems. These always stand at the end of the solution part, so you get the chance to conclude to the theorems by yourself, even if you check a result.


	
Each interim result is rounded to 2 decimal digits. This includes also partial results in a formula. To generate y=2x1.492, you have to calculate 1.492=2.2201, first. Afterward, you continue to calculate with the rounded value : 2.22 x 2 = 4.44.

Please, absolutely mind the forementioned details. Slight rounding differences exponentiate and cause deviations from the result.





	Only the third digit is important for rounding, while the fourth is therefore irrelevant. For values greater or equal to 5, please round up.





Examples:





	calculated value:

	rounded value:





	4.1648352

	4.16





	5.00213553

	5.00





	4.9952131

	5.00





	4.99493

	4.99









1.1. Level of difficulty: low


1.1.1.


[image: ]


The thick line is 5.64 cm long.


How long is the dotted line?


1.1.2.
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The thick line is 12.75 cm long.


How long is the dotted line?


1.1.3.
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The thick line is 4.80 cm long.


How long is the dotted line?


1.1.4.
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The thick line is 33.48 cm long.


How long is the dotted line?


1.1.5.
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The thick line is 100.40 cm long.


How long is the dotted line?


1.1.6.
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The thick line is 40 cm long.


How long is the dotted line?


1.1.7.
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The thick line is 50.50 cm long.


How long is the dotted line?


1.1.8.
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The thick line is 40.00 cm long.


How long is the dotted line?


1.1.9.
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The thick line is 26.40 cm long.


How long is the dotted line?


1.1.10.
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The thick line is 4.00 cm long.


How long is the dotted line?




1.2. Level of difficulty: middle


1.2.1.
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The thick line is 7.83 cm long.


How long is the dotted line?


1.2.2.
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The thick line is 16.80 cm long.


How long is the dotted line?


1.2.3.
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The thick line is 2.20 cm long.


How long is the dotted line?


1.2.4.
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The thick line is 12.48 cm long.


How long is the dotted line?


1.2.5.
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The thick line is 13.25 cm long.


How long is the dotted line?


1.2.6.
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The thick line is 8.28 cm long.


How long is the dotted line?


1.2.7.
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The thick line is 1.2 cm long.


How long is the dotted line?


1.2.8.
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The thick line is 10.40 cm long.


How long is the dotted line?


1.2.9.
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The thick line is 4.60 cm long.


How long is the dotted line?


1.2.10.
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The thick line is 4.00 cm long.


How long is the dotted line?




1.3. Level of difficulty: high


1.3.1.
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The thick line is 2.8 cm long.


How long is the dotted line?


1.3.2.
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The thick line is 5.12 cm long.


How long is the dotted line?


1.3.3.
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The thick line is 6 cm long.


How long is the dotted line?


1.3.4.
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The thick line is 14 cm long.


How long is the dotted line?


1.3.5.
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The thick lines are 9 cm long.


How long is the dotted line?


1.3.6.
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The thick line is 12 cm long.


How long is the dotted line?


1.3.7.
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The thick line is 12 cm long.


How long is the dotted line?


1.3.8.
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The thick line is 2.50 cm long.


How long is the dotted line?


1.3.9.
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The thick line is 4.8 cm long.


How long is the dotted line?


1.3.10.
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The thick line is 24.2 cm long.


How long is the dotted line?




2. Logicals – Fix up the chaos


In each riddle of that kind, the characteristics of a certain number of houses are given in relation with each other.


The number of houses, as well as the number and kind of characteristics are described shortly. No characteristic appears twice. Information about left and right is referred to the reader´s perspective.


Attention, concentration and systematical thinking are important for these riddles.


The solution part partially contains hints if special approaches are appropriate. It is useful to do the riddles chronologically, as hints for new problems are only given once at the first occurrence.




2.1. Level of difficulty: middle


2.1.1. There are 4 houses. For each house there is information about the number of residents, the house´s color and the car brand.


What color is the house with 3 people?






	5 people live in the Peugeot driver´s house.


	The leftmost house has the most residents.


	A green house is next to the house of the VW driver.


	Only 2 people live in the house which is to the right of the white house.


	Next to the Mazda driver there lives a Peugeot driver.


	The Mazda driver lives in the yellow house.


	2 people live in the yellow house.


	Next to the white house there lives an Audi driver.


	6 people live in the brown house.


	To the left of the Audi driver there is a brown house.








2.1.2. There are 4 houses. For each house there is information about the number of steps in the doorway, the number of windows and the number of children.


How many windows does the house with one child have?






	One house has 10 windows.


	To the right of the house with 14 steps there is a house with 2 steps.


	4 children live in the house with 6 windows and 14 steps.


	The house without a child has only one neighboring house.


	To the left of the house with 4 children there is a house with 13 windows.


	The neighbors living to the left of the family with 2 children have no children.


	The house with 9 windows has 10 steps.
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